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Whole Numbers
CHAPTER 1 Favers

Roots
g

1. Doretusea calculator in this question. Copy and complete the following -

e 4" = duxdz b 7 =T7x7: ¢ 10°=10x._=..
d 25z x_=_ ¢ 3= f -

g (-1 ho(8F = i ()

| 5= 85x5x5=_ k(1) = | 2y =

2. Voueanuse a calculator this time. Find the value of -

2

o 14 b 13 ¢ 33 d 27
¢ & £ 127 g [77 h ()
3. Caleulate the arca of a square with side -
a 3om b 9mm ¢ llm d 3bem
4, Find:-
a A%.E b oteg e 10°-7 d of-2*
¢ 12°-10° § 2f.3t.st g 10°+8° 44" hoo13°-12° 50



Whole Numbers
m Square Roots and Cubes

1. Copy each line and complete without a calculator :-

a e T P T d
E\E 'FJI 'F“HE

2.  Whrite down the answer to each of the following :-

a 200 [ \EEH:I-DG < AS000000 o 810000 .

Use the "y * button on your calculator to find (to 1 decimal place) :-

uﬁ bﬁ cﬁ dﬁJE nﬁ.

Use your calculator to find the following (te twe decimal places) :-

u-J[Z_E bE c-urE dﬁ nm.

A square has an aree of 217 mm”,
217 o

Calculate the length of a side to the nearest whole number.

The anewers to these quections are all whole mimher<. Find :-

a 3000 b 38 e 7 d e e Bz,



Answers

Powers & Roots

Chl Ex1

h 1/16

d 1225 cm

12l m2

<

145
44
0

7r 8

Ex 2 Square Roots and Cubes
a 4 b

Chil

L

c:ID

| R -

Q88

£ O 9

o8B

oo v

14

71
¢ 2I8

35

c 671

g

!

1308
15 em

5.
6

o~

a 10
-

o~



Whole Numbers

‘m | Multiplez & Lowezt Commen Multiplez {l.2.m.)

a  Write down all the multiples of 4 between 30 and 50.

b Write down all the multiples of 7 between 30 and &B.

2. a List the first ten multiples of 3 and the first 10 multiples of &,
b List the commen multiples of 3 and 4.
¢  Whatic the lLe.m. of 3and 4 2

3. Find the lcm. of each of the following pairs of numbers :-

¢ Jand3 b Bandb ¢ Jand7 d band8
e I1Dand1? f 3andll g Hand? h fand9,
4, Findthe lem.ofi-a 2 3and 4 b 3. 5and?9 ¢ Z.7and9,

5. 3 dizeo |igh1'=.' are set off at the zome time ond then flash ot dif ferent intervals «-
+ the blue |ig|‘|1 flashes every O seconds.
+ the green light flashes every 6 seconds. *’
* the red light flashes every & seconds,
After they flash at the start. how long will it be until they flash together again ?

)
Facterz & Highest Common Faetor (h.c.f.) ¥

1. Find all the factors of =~ a 10 b 18 e 23
24 e 72 f 100

2. a Listall the factors of 18 and all the factors of 24.
B Make alist of the commeon factors of 18 ond 24. [these that appear in both lists),
e What is the higha=t eammean facter (orh e f.] of 18 and 24.

3. Find the highest common factor (hef.) for each of the tollowing -
e 12and 15 b 2Band 36 e 24 and 95
d IFand 41 e 100 and 105 f 199 and 200.

4. Fird the hef. of - a 12,15 21 B 24 36 40



Whole Numbers

3

m Prime Numbers %

a Write all the facters of 15. Why is 15 not a prime number ?
b Explain why the number 1 iz not a prime number.

¢ Explain why 13 iz a prime number.

State whether each number below is a prime number or not. (Write yes or ne) :-

a B b 16 e 15 d 17
e 23 £ 27 g 29 h 35
i 44 i 47 k El I &2

How many even numbers are prime ?
Write down all the prime numbers between B0 and 60.

m Prime Decomposition x

ey |

Copy and complete the prime - 36

factor tree shown. -~
actor tree shown ( >« 18
— £ ™

L

&= x . oxo..

Usze o similar methed to find the prime decomposition of the following numbers -
a 12 B B0 e 27 d 80

e bb f &8 g B h 110

i 165 i 34b k 1000 I 256



Answers

Chl Ex1 Multiples & l.c.m.

L a 3234044
b 35 42 49,506,603

2 o 3,6,9121518212427 30
4, 8,12, 10, L0, 24, 28, 22, 20, 40

b 12,24, 14,
¢ [2
1 a b b 24 c 21
d 40 e ol T 13
g T2 hoIB
4 a0 2 b 45 c 12b
5 [20seconds
h3d Ex?2 Facrors & h.c.T
L a L2310 b L,2,3691B cl 23
4 [2,8 4468 12 24
¢ [.2.3.46,891218 24,36, 72
f [,2.4,5 10 20,25 50, 100
2 o () L2 509 18 (i) eeld
= [.2.3,6 c b
1 a 12 b 7 c 24
d 1 g 5 f l
4 a 1 b 4
8 2,3 46,8 910 12 15, 18, 20, 24,
I0. 4D 45 5090 1200 100, 360
th3 Ex3 Prime Mumbers
L a L, 3.5 15 More than 2 Factors
a only L factor
c  has pwactly 2 fectors
2 a4 yes b no C na
d pes £ yes f na
g yes h na i no
] yes k no I no
1  onlyone (the umber 2)
4 53 50
th3 Ex4 Prime DecomposiTion
L a4 ZxZx3Ix3
2 a 2mx2x1] b 2xExb c Ax3x]
d 2xlxIxlxh
e 2xIxIxT
f exmixixll
g SxT h 2x5=xll i Sx3l
] Ixhx?3 k Px?x?xixi

Pulxlxixnlxdxixi



Decimals

Decimal Places & Rounding N

Exercise 1 |

wasla
Round each of the following to one decimal place :-
a B63 b 377 e 90B1 d 2949
e 111123 f 5496 g 00612 h 9997,

Round eoach of the following to twe decimal places :-
a 1768 B 1212B e 77006 d 90082
e 304399 f 001bI7 g 99087 h 99099,

Round each of these numbers to the number of decimal places in the brackets :-

a 7B45(2) b 31903 (1) e 51542 (2) d 587654 (3).

a Share £8000 equally between & people. ‘:'J-t é

How much can each persen get ?

b Share one million pounds equally between 2 people. £ \
L . =

How much can each person get ?

¢  How much will each person get if you share EICI;%_— million between 7 pecple ?

Find three places in real life where rounding to decimal places is used.



Answers

Answers To Chapter 1

Exercise 1 - Decimal Places

1 o B4 H 38 c 21 d 29

e [11 f 550 g 01 h 1000
Z. o LT b 1213 ¢ 771 d 501

e 304 f 002 g 2997 h 10000
4. o 783 b 32 c 2134 d &7
4 o £1333-33 B £111111-11

c El146428571
3. Vorious



Decimals

Exercize B

1. Write down the answers to the following :-
(a) 84 x10 (b) 98x10 (c) 762x10 (dy 1871x10
(e) 641 x 100 (f) 091 x 100 (g) 4021 x 100 (h) 0-0054 x 100
(i) 5213 x 1000 () 08765 x 1000 (k) 10041 x 1000 () 42x1000

2. A crate weighs 4762 kg. What would be the weight of :-
{a) 10 crates (b) 100 crates (c) 1000 crates (d) 10000 crotes ?

3. There are 1000 millilitres in a litre. How many millilitres are there in :-
(a) B litres (b) 7-62litres (c) 00415 litres (d) 0-01litres?

Exercize &

1. Write down the answers o the following :-

(a) 286 = 10 (b) 198 =10 (c) 7-62=10 (d) 187-1+10
(e) 641 = 100 (f) 1001 - 100 (g) 42 =100 (h) 054 -100
(i) 52131000  (j) 08 - 1000 (k) 1004-1000 () ©-1000

2. The length of 100 pieces of railway track is 412-6 metres long.
(a) What is the length of each piece in metres ?
(b) Change your answer to centimetres.

3. There are 1000 squibiis in a martian pound.
How many martian pounds in :-

(a) 3497 squibiis  (b) 2146 squibiis
(c) 21977 squibiis  (d) 1 squibii ?




-e1g

Exercize 7

L

Write down the answers to the following :-

(o) 434 (b} 827 (c) 878 (dy 119-38
x 4 x 7 X 6 x 0
() 57 x 8 (f) 423 x4 (g) 1359 x5 (h) 7 x 37621

Show all your working to the following questions :-
{(a) Fred the monkey eats 3-74 kg of food every day. e
What is the weight of food Fred will eat in :-
(i) 3 days (i) aweek? @
(b) Boris the zookeeper gefs paid £7-84 an hour.
How much will Boris earn in :-
(i} 4 hours (i) 9 hours ?

(c) Kevin the Camel eats six 3-71 kg boxes of dates every month. ‘a i
Karen the Camel eats five 4-09 kg boxes. Y

’ )
i .
Who eats the most and by how much ? .73 *E"

Exercize 8

1. Copy and complete the following :-

(@ 2[3716 () ¢lora4 (€) 74170 (d) gl12012
2. Find :- (@) 357-7 (b) 57066 () 0072-8
3. 5Show all your working for the following questions :-

(o) Mine bricks have a total length of 2:61 metres long.
What is the length of 1 brick ?

(b) Three kegs of beer hold 30716 litres.
How much beer does one keg hold ?

(c) Find:- (i) athirdof 208 (i) a ninth of 5166
(iii) asixthof 606 (iv) a fifthof O-7

4. Two shops sell identical shirts.
Shop A sells three shirts for £8:79.
Shop B sells five shirts for £14-75.

Which shop has the best deal ? Explain.

11



Answers

Chapter 2 Exercise 5

1.a 84 b 98 c 76-2 d 187-1
e 641 f 9-1 g 402-1 h 0-54
1 5213 ] 876-5 k 1004-1 1 4200
2.a 4762 kg b 4762 kg
c 47620 kg d 476200 kg
3.a 5000 b 7620 c 41-5 d 10
Chapter 2 Exercise 0
1.a 2-86 b 1-98 c 0-762 d 18-71
e 0-641 f 0-1091 g 0-042 h 0-0054
1 0-5213 7 0-0008 k 0-001004 1 0-009
2.a 4126 m b 412-6 em
3.a 3-497 b 0-2146 c 21-977 d 0-001
Chapter 2 Exercise 7
1.a 17-36 b 57-89 c 52-68 d 1074-42
e 456 f 169-2 g 6795 h 262-647
2.a (1) 11-22ke (1) 26-18 kg
b (1) £31-36 (1) £70-56
¢ Kewvin by 1-81 kg
Chapter 2 Exercise §
1.a 18-58 b 1524 c 5-97 d 16-14
2.a 5-1 b 9-51 ¢ 0-009
3.a 029 m b 10242 |

c (1) 66 () 574 (1) 1-01 (iv) 0-14
4. shop A each shurt 2p cheaper



1. Find :-
a 11-12
e [-89)+9

i (-L2L+ 21

2. a 34-121
e 116-137
h 1lk- 12k

Integers

ddding & Subtracting Integers g

b &-11 € (-3)+5 d 1-3
f (-4-2 g (-0)-7 h (-3)+(-1)

J 134-165 k (-30)-40 I (-50)+ (-40)

b 27-42 c BT+(—48) d (-14)-38
fo631+(-361) g (-121)+(-169)-9-2
i llg-12lg j 15f+(-11H)-3F++

13



Integers

1. Find :-
a 4-(-2) b
e [-3)-(-2) f
i (-39 -(-21) j
2. Find -
a  4x-|-2x] b
e llld-(-884d) T

1. Find -
a JAx(-2) b
e [-3)x4 T
i (-9)+3 J

2. =ind -
a [-4)=(-2) b
15 = {-5) T

3. Find :-

a

-l1+3)x2 b

8- (-1) c

(-1} - (-1 g
(-121)- (-77) k

Ty - (-4 c
(-3w)-(-4w) g

8= (-1} c
-lj=g g
(-121)+ 11 k
(-3) = (-4 =

(-30)=(-3) g

(F-11)x5 C

Subtracting Megatives g

10 - {-5)
(-B) - (-7}
73 - (-54)

23k~ (-14K)

(~40) - 11j - (-20).

12 x (-5)
(-B)xT
72 = (-5)

- =(9)
(-40) = (-8)

-7

d

Multiplying/Dividing Negatives g

=

70 - (-30)
(-11) - (-8)
{-243) - (-233).

156i - (-127g)

10 x (-30)
(-11) x 4
243 = (-3)

(-11) x {-12)
(-243) = (-3)

1) = (-T) = (-2}

14



Answers

Ewercise 2 - Adding and Subfracting Imtegers

1L a-1 b 6 c 2 d -2
e O f -6 g -13 h -4
i =100 §j -3l k -0 | S0

2 a -87 b -16 c 39 d B2
g -21 f Zr g -3
h -& i -l0g j 2f

Ewercize 3 - Subtracting Megatives

L aé b S c 16 d 135
e -1 f o g -1 h 5
i -13 j 4 k 127 | -10

2 a b b 1ly c 37k d 2B3i
e 1994 f w g -31)

L a4 b 4 c 60 d -300
e -12 f -6 g -GH h -4
i -J j 11 k -B | -8l

2 a8 b 12 c &3 d 132
g -3 f & g B h 81

3 o -16 b -20 c -1 d -14



1]

e
hi
I

P

¥+y+y b
2w+ bwsd T
3 x4y i
ax b m
18p=dp q

Algebra
m Simplifying

1. Smplify each expression by collecting like terms -

t+3f-21

Te+3-ow

GkxT
2vE v

ok = Ak

c
]
J

n

r

3p+5p+p d 4L+ Ok-4k

By+4b+ 3y-2b+7

16p = 2 k 24w=8
2ab x 3a 0 Jodx4cxid
40g°+8g° s 4fx6i:8f

2. Find the total area of each large rectangle in terms of xand y -

a

I

b

2y Ey

- Evaluating Expreszionz and Formulae

Siwen a= 2, find -

a a+6
d (Ta+4)=2
g IHasxl)-12

Siwenbz=3, c-Sandd=

a
d

If m= 4 and n = 6, find the values of :-

a

d

bre+d
Ibed

If f=

b Za c Ha-3

e 4a+d) f 6(11-a)-53

h 5(a+2)+15 i 3(a- 1)+ 27.
-1, ewaluate -

b 2b-c-3d ¢ %(bced)

e cob- dbe f O5(bd- cd)

. g=4and h=-2, find &, given f+g+ h+ez 10

pr-El-, rz-3and sz 2, find fgiven st- pre= 12

mE

m- & n°

g Jymn+l

—

b n* Com

e Zm° f 3Imn*
—_— ———

h «Bm-2n+1 i Jym +nm"-3.

16



1 a Jy b
g Bw+3 f w+d
h 12y ]
| Jab m
P o z
&2 0 Gt + 3

Answers

Ewercise 1 - Simplifyirg

21
42k

Gy
ol -y

c S d 9
g Uy+2b+T
j B bk dw
n baith o 24ceds
r G s Jtf
b Ty +Zly
[ (U -

Exercise & - Evaluoting Expressions and Formuloe

ol N
W OB R ORWOR

mon = ks e I = 1
Fa i # sl

amrmTm o oo o o

e

L s R

s

e =

s Il
=l 1|
]
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